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(8] 1. In each of (a), (b), (c), find ji :
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[4] 2. Show that the equation z® =2z 4 1 has at least one solution in [0, 2].

L{» = R lean-t
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.‘.(1) = §-u-1 = 3 >0
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(a) State the local linear approximation of f(z) =+/4+z at zo=0.
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(b) Use your answer in (a) to approximate +/4.4
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(5] 4. Find Z—z at the point (2,-1) on the curve z?+ zy+ 29 =/4,/0

.E’-(x‘+x3 +233) = 0 =0

[2] 5. Let f(z)=2*"+3z+1. Find %(f“(x)).
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y 3 dz dy :
3] 6. If z and y are functions of ¢t with == -2, find < when z = 4 given that
2 9 =125.
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[2] 7. Determine k so that the function

@)= | %=1, z<1
I\EI=N 2P +kz, z>1

is continuous at z = 1.
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[3] 8. Evaluate the following limits.
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(a) il—% Z Cos (%) : o
(b) tl_i.rg (2tsin (%)) : Z
on(H) 4

T —



MATH 251 - LO8 - Midterm - A. Bruen - Fall 2002 Page 7 of 8

[4] 9.
(a) If logy(z —1) =4 then z= _ I
(b) If f(z)=|3z| then f'(-4)= _ =3
(o) If f(::):x—i—z, glx) = 243, thiw dfegiln - T

[4] 10. Answer T (true) or F (false) for each of the following questions.

(a) If f is differentiable then f is continuous. I
(b) If§<ac<—72I then tanz < 1. F
(c) Afunction f(z) cannot be simultaneously even and odd. F
222 -5z + 7 1
d) Th hof y= ——— the li = = i
(d) The graph of y 7 B has the line y 5 asa horizontal asymptote.
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